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ACCOUNTANCY WITH COMPUTERIZED ACCOUNTING
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Cool off time : 15 Minutes
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March 2017

      General Instructions to Candidates :
There is a 'Cool off time' of 15 minutes in addition to the writing time of
2 hrs.
You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your
answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Give equations wherever necessary.
Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.

     j]¡SÇw°¥:

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.
CT yop¾V S\Lh|°¥ V̈ D¾qU IuOfLSjL, oãOçvqOoLp] Bwp
v]j]opU ja¾LSjL kLa]Š.

D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.

IŠL S\Lh|°¥¨OU D¾qU IuOfeU.

KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk
S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.

We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q
SkÕr]¤¾RÐ DºLp]q]¨eU.

Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.

S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. Vinod took a loan of `. 1,00,000
from Canara Bank.

Identify the debtor in the above
transaction.

2. Writing off the cost of intangible
assets is termed as ................

a) depreciation

b) depletion

c) amortization

d) obsolescence

3. Which one of the following is
NOT a feature of Ready-to-use
accounting software?

a) It is suited to small
organizations.

b) Volume of accounting
transactions is very low.

c) Cost of installation is high.

d) Number of users is limited.

4. Classify the following assets
under appropriate heads.
a) Cash
b) Machinery
c) Land
d) Stock

5. "A Balance Sheet is more
reliable than statement of
affairs". Explain.

1. v]SjLhV WLjrL mLË]¤ j]ÐOU

1,00,000 qPk vLpVk IaO¾O.

oOWt]¤ kr´ CakLa]Rs RcmVã¡

BRqÐV f]q]\ÿr]pOW.

2. C¢aL¢^]mV¥ ByVf]WtORa v]s

IuOf] fttOÐf]Rj ............. IÐV

krpOÐO.

a) depreciation

b) depletion

c) amortization

d) obsolescence

3. fLRu RWLaO¾]q]¨OÐvp]¤

Rrc]&aO&pPyV A¨Tº]°V

SyLlVãVRvpr]R£ NkSf|Wf

AsæL¾fV JRfÐV IuOfOW.

a) CfV R\rO òLkj°¥¨V

AjOSpL^|oLeV.

b) A¨Tº]°V CakLaOWtORa

SfLfV vtRq WOrvLeV.

c) òLk]¨OÐ \]svV WPaOfsLeV.

d) DkSpLY]¨OÐvqORa I¹U

kq]o]foLeV.

4. fLRu krpOÐ ByVf]W¥ D\]foLp

fsR¨Ÿ]sL¨OW.

a) Cash
b) Machinery
c) Land
d) Stock

5. ""KqO mLs¢yV x}ãV SðãVRo£V KLlV

AlSp¡y]Rj¨L¥ WPaOf¤

v]w~LySpLY|oLeV'' v]wh}Wq]&

¨OW.

(1)

(2)

(1)

(1)

(2)

(1)

(2)

(1)

(1)

(2)
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6. Classify the following into input
devices and output devices.
a) Key board
b) Printer
c) Mouse
d) Monitor

7. Give any two limitations of
computerized accounting
systems.

8. a) Write a suitable entity for
the attributes given below.
Account Code,
Account Name

b) Also identify the key
attribute to that entity.

9. a) Mention the name of the
reserve that is created out of
revenue profits.

b) How does it differ from
capital reserve?

10. Opening stock `  18,000
Purchases `  22,000
Wages `    5,000
Closing stock `  15,000

a) Ascertain cost of goods sold.

b) How much is gross profit, if
sales is ` 37,500?

(2)

6. fÐ]q]¨OÐvRp C¢kOŸV

DkWqe°¥ IÐOU KTŸVkOŸV

DkWqe°¥ IÐOU fqU f]q]¨OW.

a) Key board
b) Printer
c) Mouse
d) Monitor

7. WUk|PŸRRryVcV A¨Tº]°V

y]ð¾]R£ JRfË]sOU qºV

SkLqLpVoW¥ IuOfOW.

8. a) fÐ]q]¨OÐ BãVr]m|PŸOW¥¨V

AjOSpL^|oLp I£]ã] JRfÐV

IuOfOW.

Account Code,
Account Name

b) B I£]ã]pORa W} BãVr]m|PŸV

JRfÐOU f]q]\ÿr]pOW.

9. a) rvj|P SNkLl]ã]¤ j]ÐOU

qPkvfVWq]¨OÐ r]y¡vÿ]R£

SkqV Nkf]kLh]¨OW.

b) AfV W|LÕ]ã¤ r]y¡vÿ]¤ j]ÐOU

I°Rj v]n]ÐoLeV?

10. Opening stock `  18,000
Purchases `  22,000
Wages `    5,000
Closing stock `  15,000

a) SWLyVãV KLlV YOcVyV SyL¥cV

WºOk]a]¨OW.

b) Ryp]¤yV 37,500 qPk

BReË]¤ SNYLyV SNkLl]ãV

INfpLeV?

(1)

(1)

(1)

(1)

(2)

(2)

(2)

(2)

(1)

(1)

(1)

(1)

(2)

(2)

(2)
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11. IU.IyV. AWVyy]Rs JRfË]sOU

qºV ScãL RRakVyV AjOSpL^|oLp

DhLzqe°¥ yz]fU IuOfOW.

12. S\qOUka] S\¡¨OW.

11. Write any two data types in
MS-Access with suitable
examples.

12. Match the following.

13. . 85,000 qPk W|LxOU 15,000

qPkpORa SðL¨OU RWLºV

m]y]jôV BqUn]\ÿO.. 10,000 qPk¨V yLij°¥ v]ãO.

a) oOWt]¤ RWLaO¾]q]¨OÐ

CakLaOW¥ A¨Tº]°V

yovLW|U kLs]¨OÐO IÐV

Rft]p]¨OW.

b) oOWt]¤ RWLaO¾]q]¨OÐ

CakLaOWtORa S^¡e¤

I¢Na]WtOU SqXRÕaO¾OW.

                                 A                               B

a) Closing stock valued at cost or market i) Objectivity Principle

price whicher is less

b) Every transaction will have two aspects ii) Money measurement concept

c) All business events not recorded in iii) Dual aspect concept

accounting

d) Accounting information should be iv) Principle of conservatism

free from bias

13. . Started business with cash

` 85,000 and stock ` 15,000.. Sold goods for cash ` 10,000.

a) Prove that the accounting

equation is satisfied in the

above transactions.

b) Also pass the journal entries

to record the above

transactions.

(4)

(3)

(2)

(2)

(4)

(3)

(2)

(2)
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14. . Purchases day book was

undercast by ` 3,000.

. Wages paid ` 500 in

connection with purchase of

machinery has been debited

to wages account.

a) Identify the type of errors

committed in the above

transactions.

b) Pass the entries to rectify it.

15. On 1st January, 2016 Arun drew

a 3 months bill upon Varun for

` 6,000. On 3rd January, 2016

Arun discounted the bill with his

banker @ 6% per annum. The bill

was honoured on the due date.

a) Identify the drawer in the

above bill.

b) Record the necessary journal

entries in the books of Arun

and Varun.

14. . k¡S\ÿyyV Sc mO¨V  3,000

qPkpORa WOrvO WLe]¨OÐO.

. Rox]er] vL°]pfOoLp]

mÌRÕŸV RWLaO¾ Sv^yV 500

qPk Sv^yV A¨Tº]¤ Rcm]ãV

R\pVf]q]¨OÐO.

a) oOWt]¤ RWLaO¾]q]¨OÐ

CakLaOWt]¤ vqO¾]p

RfãOW¥ JfO fq¾]sOttRfÐV

f]q]\ÿr]pOW.

b) AfV f]qO¾OÐf]jOtt

I¢Na]W¥ SqXRÕaO¾OW.

15. 2016 ^jOvq] 1&LU f}pf] AqO¦ 3

oLyU WLsLvi]pOtt 6,000

qPkpORa m]¤ vqOe]R£ Skq]¤

fáLrL¨]. 2016 ^jOvq] 3&LU f]pf]

AqO¦ m]¤ mLË]¤ v¡x¾]¤

6%&¾]jV c]yV¨TºV R\pVfO.

WLsLvi] h]vyU m]¤

AUY}Wq]¨RÕŸO

a) oOWt]¤ kr´]q]¨OÐ m]¤

CakLa]Rs SNcLp¡ BRqÐV

WRº¾OW.

b) AqOe]R£pOU vqOe]R£pOU

mO¨]¤ Bvw|oLp S^¡e¤

I¢Na]W¥ SqXRÕaO¾OW.

(4)

(3)

(2)

(1)

(4)

(3)

(2)

(1)
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16. ojOv]R£ W|LxV mO¨V 18,000 qOk

Rcm]ãV mLs¢yV WLe]¨OÐO.

W|LxV mO¨OU kLôV mO¨OoLp]

fLqfo|RÕaO¾OSÒL¥ fLRu

krpOÐ v|f|Ly°¥

WLeOWpOºLp].

a) 4,000 qPkpORa R\¨V

j¤W]pfV mLË]¤ CfOvRqpOU

yo¡Õ]\ÿ]Ÿ]sæ.

b) mLËV \L¡^yV 500 qPk kLyV

mO¨]¤ Rcm]ãV

R\pVf]q]¨OÐO.

c) 3,000  qPkpORa R\¨OW¥

mLË]¤ WtWVxjO v]ŸfV

CfOvRqpO WtWVaV R\pVf]Ÿ]sæ.

d) 3,500 qPk vLaW mLËV WtWVaV

R\pVfV A¨Tº]¤ NWc]ãV

R\áOWpOU R\pVfO.

i) W|LxV mO¨V mLs¢yOU

kLyV mO¨V mLs¢yOU

RkLqO¾RÕaO¾OÐf]jO

Svº] ojO fáLrL¨OvL¢

SkLWOÐ SðãVRo£]R£ SkqV

JRfÐV IuOfOW.

ii) AfV RkLqO¾RÕaO¾OÐf]

jOtt SðãVRo£V fáLrL¨OW.

17. mO¨OW¥ v|vzLqU R\áOÐ

SyfOv]R£ 2016 ^P¦ oLyR¾

CakLaOW¥ fLRu RWLaO¾]q]¨OÐO.

16. The cashbook of Manu showed a
debit balance of `18,000. On
comparing cashbook with
passbook, the following
differences were noted.

a) Cheque issued but not yet
presented for payment
` 4,000.

b) Bank charges debited in the
passbook ` 500.

c) Cheques sent to bank for
collection but not yet
collected ` 3,000.

d) Rent collected and credited
by bank ` 3,500.

i) Name the statement
Manu will prepare in
order to reconcile balance
as per cashbook with
passbook.

ii) Prepare that statement
to reconcile it.

17. Sethu a dealer in books had the
following transactions for the
month of June 2016.

(5)

(1)

(5)

(1)
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i) oOWt]¤ RWLaO¾]q]¨OÐ

CakLaOW¥ D\]foLp Sc

mO¨OWt]¤ SqXRÕaO¾OW.

ii) Cf]¤ CakLaV jÒ¡ (c)
SqXRÕaO¾OÐf]jOtt SyLuVyV

ScLW|ORo£V JRfÐV

f]q]\ÿr]pOW.

ARsæË]¤

fLRu fÐ]q]¨OÐ v]vq°t]¤

j]ÐOU KqO cm]¥ SWLtU W|LxV

mO¨V fáLrL¨OW.

 2016
 jvUm¡

1 KLÕe]°V mLs¢yV

W|LxV  (Dr.) 30,000
mLËV (Cr.) 12,000

2 yLij°¥ 8,000 qPk¨V vL°]\ÿO.

10 mLË]¤ 17,000 qPk RcSÕLy]ãV

R\pVfO.

15 yLsr] R\¨Lp] RWLaO¾O 5,000qPk.

18 15,000 qPkpORa yLij°¥ v]ãO.

30 mLË]¤j]ÐOU 3,000 qPk k]¢vs]\ÿO.

i) Record the above
transactions in the
appropriate day books.

ii) Identify the source document
for recording the transaction
no. (c) above.

OR

Prepare a double column

cashbook from the details given

below.

 2016

 November

1 Opening balance

Cash (Dr.) 30,000

Bank (Cr.) 12,000

2 Purchased goods for cash ` 8,000

10 Cash deposited into bank ` 17,000

15 Salary paid by cheque  ` 5,000

18 Sold goods for cash  ` 15,000

30 Cash withdrawn from bank ` 3,000

a) Purchased books on credit from Himalaya Publishers : –
100 copies of Accountancy Text for Class XI @ `  150 per text.
80 copies of Business Studies Text for Class XI @ ` 120 per text.

b) Purchased books on credit from Saradhi Books : –
90 copies of Accountancy Text for Class XII @ `  180 per text.
75 copies of Business Studies Text for Class XII @ ` 140 per text.
Trade discount allowed 5%.

c) Returned to Saradhi Books : –
8 copies of Accountancy Text for Class XII @ ` 180 per text.
15 copies of Business studies Text for Class XII @ ` 140 per text.

(5)

(1)

(6)

(5)

(1)

(6)
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Trial Balance as on 31/12/2016

Particulars Debit Credit
` `

Capital –    . 80,000

Opening stock 12,500 –    .

Salaries 3,000 –    .

Carriage 2,500 –    .

Commission –    . 4,000

Purchases 30,000 –    .

Bad debts 1,000 –    .

Returns outwards –    . 2,000

Sales –    . 41,000

Sundry debtors 24,000 –    .

General Expenses 2,000 –    .

Cash in hand 6,500 –    .

Sundry creditors –    . 8,000

Depreciation 1,500 –    .

Machinery 52,000 –    .

Total 1,35,000 1,35,000

Additional information :
a) Closing stock was valued at ` 10,000.
b) Carriage outstanding ` 500.
c) Commission received in advance ` 700.
d) Provide 5% of debtors for bad debts.

18. W]q¦ IÐ v|LkLq]pORa 2016

c]yUm¡ 31&LU f}pf]p]Rs Nap¤

mLs¢yV fLRu RWLaO¾]q]¨OÐO.

2016  c]yUm¡ 31&jV

AvyLj]¨OÐ v¡xR¾ SNac]°V

B¢cV SNkLl]ãV B¢cV SsLôV

A¨TºOU mLs¢yV x}ãOU

fáLrL¨OW.

Prepare Trading and Profit and

Loss account for the year ended

31st December, 2016 and a

Balance Sheet as on that date.

18. The following is the Trial
Balance of Kiran, a trader as on
31st December, 2016.

(8) (8)


